FEHAREHEOERER (FTHFEELIE)

PHEFERFICRIMATBORTE=(A) X (B)—(C)

BHESFICRIBEFMBLUNOFRBICRIAHFHREN1,0005AUTOH

FEERTRIADFim (A) BHFEEFOPRASEADAEE (B &E (C) #&EfR#E
(RHEEFONAEEDEEHEEA600000METHDHEE, MBEBRFEOLLYET.)
600,001/ 51,299,999 F T 100% 600,000
1,300,000/ /54,099,999 FE T 75% 275,000/
65R% R
4,100,000 /57,699,999 F T 85% 685,000
7,700,000/ 159,999,999 % T 95% 1,455,000/
10,000,000 LAk 100% 1,955,000/
(RHEEFOINAEIEDEEHEEAY,100,000METOHE (L, FIFEEFELOLLYET,)
1,100,001 F3#%1>3,299,999FF T 100% 1,100,000/
3,300,000/ 554,099,999 F T 75% 275,000/
65m Ll L
4,100,000 H 57,699,999 F T 85% 685,000
7,700,000/ 159,999,999 % T 95% 1,455,000/
10,000,000/ L1 £ 100% 1,955,000/

LHFEEFIRIBENTUNORFICERDIEF AR EEEH1,0005 M Z2,0005MUTOH

ELFZITMEH O EH (A) BHEEEORALEDAEEE (B) #I& (C) %58
(AHESEDIRALEEDEETEEN500000AETHHEIL. FAIFGEEEKEOELEYET,)
500,001AH 51,299,999 FE T 100% 500,000
1,300,000 H154,099,999MHFE T 75% 175,000
658 i
4,100,000 57,699,999 F T 85% 585,000
7,700,000 V59,999,999 F T 95% 1,355,000
10,000,000 L1 E 100% 1,855,000
(A ELZEDIRALEDEEEEN1,000000HETHDHEIE. AELLABFEOELYET,)
1,000,001 [ AV53,299,999FE T 100% 1,000,000
3,300,000 AV 54,099,999 F T 75% 175,000
658 LI E
4,100,000 HV 57,699,999 F T 85% 585,000
7,700,000 V59,999,999 F T 95% 1,355,000
10,000,000 L1 E 100% 1,855,000

1/2R=%



PHESFICRIBATLUNOFREICRLISHTFTEEN20005HEZ DS

FELEZTWBZHEDER (A) DHELEDORASHEDAFE (B) Bl& (C) ¥ek#E
(AHEESZEDINALENDEETEEN400000AETHHEIL. AIBEEFEOLELYET,)
400,001 1M 51,299,999 F T 100% 400,000
1,300,000 £ 54,099,999 £ T 75% 75,000/
65k% K i
4,100,000/ 757,699,999 FE T 85% 485,000
7,700,000/ A159,999,999F T 95% 1,255,000
10,000,000/ &L - 100% 1,755,000
(AHEESEDIALZEDSETEEN900000AETHHEIL. AIFEEFEOLELYET,)
900,001 {/H 53,299,999 £ T 100% 900,000/
3,300,000/ A* 54,099,999 FE T 75% 75,000
658 LLE
4,100,000/ 557,699,999 FE T 85% 485,000
7,700,000/ /159,999,999 F T 95% 1,255,000
10,000,000 &L + 100% 1,755,000

(F) 65U LEDATIAMFEFITROIEMBLUNDMBIRLIEEHEREIN00GA, ANEEFOIRALED
BEEEIABOFADEEICE. AHFEFITRIMATOEEEIRDESITHYET,

3,500,000 x 75%—275,000/ =2,350,000H

2/2R=2



